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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be st_ated cle_arly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graph/illustrations, wherever required, may be drawn/given in the space provided for answering the
question itself.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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EUS—3T
SECTION—A
Q.1. Frafafaw vos v & ST e 150 TeEr A AR i —
Answer the following in about 150 words each :— 10x5=50
Q. 1(a) faarT #IR 5 SeeARET (no production) WF vl Tagicns Rad-1 srfemsewr, @
@ e sl 19w 2% W= & & amid w1 oqew p, A p, ¥ W@ aefermen A
S AW AT BRI @ wmiEl R A9 arPe s (wl, wh) T B & TR
af-Fyem (wh, wh) B 1 AT @& TR (xl, x3) ud B fdt o (el xL) T WX
hd B 1 3 UER W Y@ TRawe seforaear ¥ o q@Em wgaT 3g v A R
W ghR A e A Rerel et @ Rl Ggitm wE (set) Bg WX YR WK
Ftaid B
Consider a perfectly competitive exchange economy with no production, and two different
goods 1 and 2. Let p, and p, be the prices of the goods. The economy is populated by
two people A and B. A’s initial endowment of the two goods is given by (w}, w4), and
B’s initial endowment is (w},, w%). A can choose any bundle (x}, x3) and B can choose
any bundle (x}, x}). In this pure exchange economy write out the conditions for a
Walrasian equilibrium. Show that for such an economy for any equilibrium set of prices

that the absolute price level is indeterminate. 10

Q. I(b) ®vsT A Fawwr whm A Faer & gfew o 39 2 & afsl & &0 # IVew wow
@@ ol e aRkfafy &1 feaeer w3 giiema T8 | dest SuH H Tensd [Foae
e @ s9a gavae el & FrafRa w9 81w it & fEw afeln 4@ s
% Hvsx & 7 wsa ¥ 8 forg a8 od @RT uRad-g 21 desx & oA Asd
Ruzar 3g z@sr of w1 2 7

Kaldor in his theory of distribution argues, unlike Kalecki, that it is not reasonable to
neglect the constraint of labour shortage, and analyse a situation of full employment.
Show how investment and savings propensities determine distributive shares in the Kaldor
approach. Suppose that investment is not exogenous as in Kaldor’s original model but

that it varies with profits. What does this mean for the stability of the Kaldor model of
distribution ? 10

Q. I(c) waRe srdfegmeen & Iewred wad Pratwa Profeo #t gaard et gl
(i) difes Rwilkem i) fifs il o Prba @
Explain the determination of output and employment in a macroeconomy under the conditions

when individuals are subject to (i) no money illusion, (ii) money illusion. 10
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Q. I(d) T =fF = T WigH Bl & T 3w @ wikewi (3w |fd) @ g amm-ue

Q. 1(e)

Q. 2(a)

Q. 2(b)

Hifew YAk w1 8 M s 78 2 W Refv & 9w gm s aws ¥ ufefR ww
THal 8 UF SUW-3™ SN HX GHAl § fheg sad o uche oRadHw em-war & R
fRore o T B R IR &g w@la @ "im & faie Fw § 7

An individual finds that all his receipts (including income) and payment transactions are
in the form of money that bears no interest. However, he can convert money into bonds

and earn interest income but that involves a fixed cost of each conversion transaction.
What are the determinants of the individual’s demand for holding money ? 10

T AR B o shm PR @9 e g BARE 2 @) g W # o 9eg
e, wous favied IcuEd Fid & U UE el srlel wim &% w1 wwAl el W@
g; (i) =0 wAf gra e m Profd & gdle wH swR wEf 9 gsmEal @ 3en w1 @
2; (i) ¥ v R Wb § IR 9 oaYEY SRl oSt w W@ 8 oW
s odm & aw o §50 1 W@ eew § @ dufes v w99 & dqed vl @
Sgfeqd I |

Suppose an industry is characterized by the following three conditions : (i) there are a
large number of small firms, each producing a differentiated product and facing a downward
sloping demand curve; (ii) each firm ignores the effects of its actions on the decisions
taken by other firms; and (iii) new firms producing close substitutes for the product of
the existing firms can enter the industry. Then, derive the equilibrium conditions of an
individual firm and of the industry. 10

sreq-fashar fauofl (smfermidie) & w@-ygiy Ieure wgfvs qog wwal & T welia Sk
& wwa dqaa g Mg &8 Hfieg o smoasa @ ?

Under Bertrand price competition with homogeneous products in an oligopoly demonstrate
how is the equilibrium price that will prevail arrived at ? 25

A A SEA s @ forg ool g aw pzzo_%—?mﬁ‘mw,ﬁﬁPﬁw%

T Q 8 fawl IeueT | wA iy < W FEAT 99 # STURd X W@ o8, Yok
INR 2 % Rex dHra wmrews, s9dl, ¢, =c, =21

Fil f-afEETOeTd & ®9 # 99 ydE FH A@eR i 8 a9 AUl dge ged U g
¥ ? vl & @9 (Profits) ¥ & 7

arefvs fg-eftroers w9 ¥ yade wH weEr wXd ® a9 fauh g gew o aRem
T E ? W B @y (Profits) #T & ?

Let the market demand curve for carbonated water be given by p=2o_% where P is

the price and Q is the market output. Let there be two firms producing carbonated water,
each with a constant marginal cost of INR 2, or, ¢, = ¢, = 2.

What is the market equilibrium price and quantity when each firm behaves as a Cournot
duopolist ? What are the firms’ profits ?

What is the market equilibrium price and quantity when each firm behaves as a Bertrand
duopolist ? What are the firms’ profits ? 29

A-BRL-M-FDPA 3



Q. 3(a) TF TUINIG aEdia® AWGH ® MU U 9F FHSHR HH UG Hid g aa sefougwar ®
JeuIgH w1 AR Y S4 Mol g & 7 A e, §Ate AT ©@ I Mg
ICUEH & TrHIae 8T @ A9 8| 99 Sieiasyr ¥W Yk @ Ui ¥ B w9 o
gharea sefamel Bl e AT gedd & R g R ?

If workers supply labour on the basis of an expected real wage, how is the aggregate
supply of output determined in the economy ? Suppose aggregate demand and supply are
below the natural rate of employment and output. Would the New Classical economists
advocate any particular policy intervention when the economy is in such a situation ?
25
Q. 3(b) ®I¥ §F & YHE AK FT § 7 J HIA-G WA § NAD ERI deaw d@ &Gy e
H TR BT ERUMGA FIA & Ud 98 hd D AUl B UK HIA 8g ST WEAI B
SR & 8 7
What are the main goals of a central bank ? What are the instruments by which the central

bank manages the liquidity in the financial system and how does it use these instruments
to achieve its goals ? 23

Q. 4(a) YUHEA (commodities), Y51, §vsd TF =M AUl 37 =R Fufvel # anlie grealRe
@ Ruifidl & "rem ® wAie sefuren wramoam Iumfi 81 3 IR R & s
A WX Eeid sefurelt e Y 7 deaife sefuferdl & s ) Fafor @
o fam A #-@ Bl & F=hm 2 @ & ww ) faia g g o7
-G qeesoT HA-H A @Gl B S WY w8 7 aear AimE R
H wa-dr faooft & sy wv gnfieaar Praia o & 7
Macroeconomics is usually approached via the outcomes of economic interaction in the
following four markets — commodities, money, bonds, and labour markets. The Classical
economists focused on which three of these four markets 7 In which market does the
loanable fund theory of interest rate determination of the Classical economists focus and
how is the interest rate determined ? The Neo Classical synthesis focuses on which three
markets ? In which market is the interest rate primarily determined in the liquidity preference
theory ? ' 25

Q. 4(b) ¥F 2003 ¥ §T 2008 TF WXa Wied w SgAfw sefeygearsi 7 fwmer ¢S yaw o<
f5d 81 =7 yaBl B U9E A g9 S B foe 30 §F R wEwl # Frema g
Proferenr wur & ud sfeyawn ¥ 9 Y & 9yaA® W D9 gHIGD dear & 7
After 2003 till 2008 many emerging economies including India received huge capital
inflows. To contain the effect of these flows the central bank sterilized the inflows.
What is sterilization and how does it affect the supply of money in the economy ?

25
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ETE =t
SECTION—DB

Q.5. Fr=fafed 7R w1 & I wwe 150 weal W SR s—
Answer the following in about 150 words each :— 10x5=50

Q. 5(2)

Q. 5(b)

Q. 3(¢)

Q. Hd)

Q. 5(e)

e fam & @7 Ao deg a1 8 ? s AR B ue wahier s ® 39 el @ gHieag
forem =T WehaT & o 9 waar & wUS ¥ W € 7

What are the three basic goals of public finance ? Can these goals be coordinated into
an overall pattern of policy or are they always in conflict 7 10
Feaisd s W oo 9% B O Q1 9w el W @R ¥ gww g, order @
F HFA TG BEH 8 W H AN IF K TF AW I@r9SR AW AT GERIG & @
ARelt 2o & o aw wool de 21 s Ror ¥ gl wX B us 3w s aw
T BIA-FT AT AAEEX B 7 M7 9% D W AR ® g e wn & 2 AW A
T 39 IWG WX YEF H ANESA FAI 8| WUR Bg FAE YHe HINTY |

What is an offer curve in international trade ? For two countries engaged in trade in two
goods, draw the offer curves such that the offer curve of the home country has a section
reflecting inelastic import demand and the foreign country’s offer curve is elastic throughout.
Indicate in your diagram which part of the home country’s offer curve is inelastic. What
is the reason for this shape of the offer curve ? Suppose the home country imposes a tariff
on imports. Demonstrate the implications for trade. 10
fwraelar 3o % Rg e it & gy ¥ oogo e 1@ R Fraemerd &
T a1 gn-ued ffeg) afes #1F-8 9@ @ gAdT sd 8 7
Summarize the main arguments of the trade optimists and trade pessimists with regard to
trade policy for developing countries. Which argument does the data tend to support ?
_ 10
TR faooll F S TWAY W oeWF wRAan 99w qared |
State five reasons that support government intervention in agricultural markets. 10
sraATTaT ud Rem @ seme aReewr g Prea O caremsl S gaila wie—() @
(Cohort) STTX AfReed=T, (i) SEHATTAT X GATT @1 J97E, TF (iii) IRFeTT1 & qoer a4
TEd erer |
Expand on the following three explanations for the Kuznets hypothesis about inequality

and development—(i) the cohort size hypothesis, (ii) the effect of openness on inequality,

and (ii1) the strong versus the weak version of the hypothesis. 10
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Q. 6(a)

Q. 6(b)

77 o 5wyl wgiers SO B ww e See W Iew 9 yew o & ey o fyaifa
FIAT €1 AR IgeW RIF &A1 B A WIHR IW FI W IR S W qed H AEax
ghe & WA AlST ST U R 6| U WIER D GH THR FT OW SN IEA 8
T HEAEIR S A Ie9 UE B o F qd ynle geu ¥ 9Ee I w9 S
& gF HXA 8 ¢ UE fUmas suA ISR A yEe &g

Suppose a given yield of tax is to be obtained from an excise on a particular product in

a perfectly competitive industry. If the objective is economic efficiency the government
would prefer that tax which obtains the desired yield with a lesser increase in the price.
Should the government imipose a unit tax or an ad valorem tax if the objective is that they
should both impose the same burden at the initial price before the imposition of the

tax ? Demonstrate your answer with a diagram. 23

T darT 7 8 7 uE wwi @ 3w onlfE wemer 3 % R aReR g ™
WIS FY 9 B TF YEAE @l HeOl MOl t X D SAAaE B U ddT
B ow(l —t)F TeW § S gl IJege sEAHAsd g9 9% e e B T am
H2T L, ¥ L, OF USE| UH Wid ® Y A9 A FH B0 T FT SR twl, B |
wF wiiE gewar ® 'Y H Us araid eim S @l % g # PW P - SOF wewm
T A T AN & Q¥ Q, T SEnT | YR g WK WEEWl & Heund g v
T B TR & GEd B WA Y O e & Aeg & §AT 8 7 dfe Heer §e
e wemoaT ARy 1 A B R FEEAT @ FX GO B o FERE w9 @ Foi
ST & For wewar 9o off IE Ay F srgeraT w1 Icied #¢4 & fag gEiga
FH & g =g g, O R guw 9Rgey ¥ R o fem 7

What is rent seeking ? Consider a proposal by a government to levy a proportional tax

on income so as to subsidize the consumption of a good. The proportional tax at a rate
t reduces the wage received to w(1 — t) which with a standard upward sloping supply of
labour curve will reduce the hours of labour worked from say L, to L,. The net income
of the person falls and tax revenue will be twlL,. This is transferred as a subsidy which
reduces the price of the subsidized good from P to P — S and increases the quantity
demanded from Q, to Q,. What is the valuation of the subsidy by the recipient ? Is it
equal to the value of taxes paid to finance the subsidy ? If the tax payer decides to devote
resources to rent seeking to forestall the policy to subsidize the good and the subsidy

recipient is also willing to devote resources to encourage the adop'tion of the policy, who

will have the advantage in the rent seeking context 7 23
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Q. 7(a)

Q. 7(b)

Q. 8(a)

Q. 3(b)

Q. 8(0)
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79 o & gl G, uw e @ few R ol orfbes @gem ¥ O#
aferarat Fre o smpee oS woeiiaa o @ we Rew feds s § wefie #4
Fefeatal UF SPRe HIT TWeEal @ UM ¥ W N F OGN 8| Tee-H ¥ GEy S
T S T YX WS B OUROTH F B 0 YT WY W S9 W e s g7
I SR @ gEda B us R e sfe Sy

S'uppose the goods, financial, current account and foreign exchange markets are initially
in equilibrium. The economy has low or imperfect capital mobility and operates at a fixed
exchange rate. The economy is subject to a favourable demand shock that raises expenditure.
What is the outcome of the shock on the aggregate income and interest rate in the short-
run ? How is the balance of payments equilibrium achieved ? Draw a diagram in support
of your answer. 25
TET R HAERAS AFEAY T8 P WH o o enfamen @ Rex Rt ¥ 2 @@
TER & fawmonia wafte s Aift &1 s a1 W3 e a9 9 9ol
o 2, S Hifew fawawer wmem & fRimm @ @1 21 1R B9 Weeyql sefaaen
IO FON 7 HAAFEAD AGHE B HA-vigT g g7

What is a speculative attack on a currency ? Suppose the economy has a fixed exchange
rate and the government is following an expansionary macroeconomic policy. The government
increases the budget deficit which it finances through a monetary expansion. How does
this lead to a crisis ? What is the timing of the speculative attack ? 25
TE i sfaEw 4 @@ giTe aeime sderardr § WiedeAs IRadd @ dfaw Awsd
H TS WG| AfH WA W OYHE A SACEA DIy |

Explain the Lewis model of structural change from an agricultural economy to a modern
industrial economy. State three major criticisms of the Lewis model. 20
TE M g F EUS-SAX WiEd @ UE fanear uEt B deew & o of sefeeen
Hgord Hafg & -9 T ITH &Y § WY @Al 6 | BRUS-SAT AT I T MY
T T e & FRo o q gl |

It is said that a characteristic of the Harrod-Domar model is that even for the long run

the economy is at best balanced on a knife-edge of equilibrium growth. Explain the
Harrod-Domar model and the reason for this characteristic. 15

FRIE MR & RBFge-aled Aea & a1 gyE Frad = g 2 SiF-d awgas
& WgR W IF e e g ?

What are the two key conclusions of the Heckscher-Ohlin model of international trade ?

Under what assumptions are these conclusions arrived at ? 15



